
Problemschach – 05.02.2103

Matt in 1 – Weiß am Zug                  (1 P.)

XABCDEFGHY
8-+-+-+r+(
7vl-+-+-+k'
6-+p+pzPpvL&
5+-+p+-+-%
4-+-+-+-+$
3+-+-+-+R#
2-+-+-+PzP"
1+-+-+-mK-!
Xabcdefghy

_
Matt in 1 – Weiß am Zug               (2 P.)

XABCDEFGHY
8-+-+-sn-+(
7+-+-zpl+-'
6L+-zpk+N+&
5+-+p+-mK-%
4-+p+-zP-+$
3+-+-+-zP-#
2-+Q+-+-zP"
1+-+-+-+-!
xabcdefghy

Matt in 1 – Weiß am Zug               (3 P.)

XABCDEFGHY
8-+-+r+nmk(
7zpl+-sNnzpp'
6-zpp+-+-+&
5+-+qzP-+-%
4-+-zP-+-tR$
3+-zPQ+-+-#
2PzPL+-+PzP"
1+-+-+RmK-!
xabcdefghy

Lösungen



Problemschach – 05.02.2103

Matt in 2 – Schwarz am Zug          (2 P.)

XABCDEFGHY
8-+-+-+k+(
7zpRtR-+-zpp'
6-+-+-+-+&
5+-+-+N+-%
4-+-+-sn-+$
3+P+-+r+-#
2P+P+-+r+"
1+-mK-+-+-!
Xabcdefghy

Matt in 2 – Schwarz am Zug         (3 P.)

XABCDEFGHY
8l+-mk-+-+(
7+-+-+-wq-'
6-+-+-+-+&
5+-+-snK+-%
4-+-+-zp-+$
3+-+-+-zP-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

Matt in 2 – Weiß am Zug              (2P.)

XABCDEFGHY
8-+-+-+-tr(
7+-+-+-zpk'
6-+-+-+-sN&
5+-+Q+-+-%
4-+-+-+K+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

Lösungen

 

                                    



Problemschach – 05.02.2103

Matt in 2 – Weiß am Zug              (2 P.)

XABCDEFGHY
8-+-+-+-sN(
7+K+-+-zp-'
6-+-zp-sn-+&
5+-vlkzpL+-%
4-zplzp-+-+$
3tr-+-+P+-#
2p+-+Q+Pwq"
1+-+-+-+-!
xabcdefghy

Matt in 3 – Schwarz am Zug (3 P.)

XABCDEFGHY
8-+-+-trk+(
7+-+-+-vlp'
6R+-sN-+p+&
5+-+-+-+r%
4-+P+-+K+$
3+-+Q+-zP-#
2P+-+-wq-zP"
1+-+-+-+R!
xabcdefghy

Matt in 3 – Weiß am Zug (3 P.)

XABCDEFGHY
8-+Q+-+-+(
7+-+p+p+-'
6-+-mk-zp-+&
5+PzpN+p+-%
4-vl-+-zP-sN$
3wqPzpp+-+-#
2L+-+-vL-mK"
1+-+l+-+-!
xabcdefghy

Lösungen


